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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU ARE
TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. If the information printed on your answer sheet is not correct, please
inform the invigilator immediately.

4. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next to
each answer box. No mark will be given if you failed to follow this
instruction.

5. Unless otherwise specified, all answers must be in exact value and in
its simplest form. Writing the units for the answers is NOT necessary.

6. Rough-work sheets provided will be collected at the end of the contest
but they will not be marked.

7. Diagrams in this question booklet are not necessarily drawn to scale.

PRAF : 1 /\BF

ARFHERAFTER.

FEEJARN -

1. REHBFRA, 2BRLEEE.

2. BFELMEEFHENEEMLES LFHBERELHEE

3. AERHEEMENHNENRTEMFEN. MBME, FEF.
4

FASROARESEEN, DEMAREES. BOEENELES
“HMEE, FEREERERER.

5. BIEBEHARE, FASRURBSHSEM, BLENERBER
B FRER.

6. LB AEMBEE S RIE S FMERR, BERKEFESNETY
e P ]

7. M FIEE R M B AR —E KL BIAERK -
© 2022 MathConcept Education

fn Question Booklet

—m
Jdm



MathConceptition 2022

1) Calculate 16.38 + 2.5. Round off the answer to 2 significant figures. [3%]
sTH 1638 + 2.5 » B ZAEME R (I AWETF -

2) Findx. [3.1%)]
Kx e

3)  Expand 2(4x + 7)(4x — 7). [3.2%]

FER 2(4x + 7)(4x —7) »
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0
Tx+3y=6 [3.3%]

4)  Solve { .
2y—x=4

Tx+3y=6
i °
2y—x=4

10x _24+x2 [3.4%]
x—4 x—4
10x _24+x2 )

5) Simplify

(siis!

x—-4 x-4
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6)  Factorize — 2¢%x + p°x — 2¢°x. [3.5%]
RS - 2¢°x + p*x —2¢°x °

7)  Inthe figure, ABCD and EBFD are parallelograms. AB = EB and / EDF = 64°. [3.6%]
Find g.
&5 ABCD #{1 EBFD Z-ATIU0E, - AB=EB fll ~EDF=64°¢ 3k g -

64°
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8)  The diagram shows two of the exterior angles of a regular polygon with 7 sides. [3.7%]

Find n.
&l {1 n BIZHYRE SN o SKon o

9) Itis given that the ratio of two numbers is 4 : 9. If 5 is added to both numbers, [4.8%]

their ratio will become 1 : 2. If 5 is subtracted from the original two numbers,

find their new ratio.
LRI {EEHVEL T 4 0 9 o AIERMEERIN F 5 » RIIWWEHIELRE R 1:2 - 40
RIF AR R AR 5 0 SR EoH L -
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4 [4.9%]
10) If x=4— — . find x.
4- 4
4"
4—
Hx=4— 4 » K x o
4
4= 4
4
4—

11) It is known that the ratio of the sum, the difference and the product of ¢ and b is [5.1%)]
17 :15:8. If a > b, find the value of a.
TRl a F1 b B2 A ~ ZZBREIEEZE 17:15:8 < % a>b > K afYfH -
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12) In the figure, AB // CD // EF. ACE and BDF are straight lines. If AB = 85, [5:2%]
CD=67and AC: CE=3:2, find EF.
@ > AB// CD /| EF - ACE #1 BDF ‘Z-H 43 « 415 AB=85 -+ CD =67
AC:CE=3:25 3R EF -

A

~"

13) The diagram shows an equilateral triangle ABC and an isosceles triangle ABD. [6.3%]
X 3x
+ :
X—-y y—Xx
& HAABC Bl FE=A > A4BD 2 —HFH=A -

AB=BC=AC=A4D, ZDBC=x°and £ DAC = y°. Find

X 3x

AB=BC=AC=A4D > /DBC=x° [ /DAC=y°- K +

o

X—=y y—x
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14) Factorize x> — 3x — 2. [6.4%]
R x -3x-2 -

15) Find the number of pairs of positive integral solutions to the equation [6.5%]
Tx + 6y = 2022.
KRR 7x + 6y = 2022 Y IE RS fsHE H -
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6.6%
16) Find the minimum value of (x* —144)—22(x—12)+12. [ d

B (7 —144) = 22(x —12) + 12 §yR/|ME -

17) What is the remainder when the 8088-digit number 202220222022...2022 is divided ~ [0.7%]

by 11?
& 8088 fi7H7 202220222022...2022 LA 11 A% » gErE%/D 2
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18) If (x—22)(x+22)(x—44)(x+11) <0, find the total number of integer solutions  [6.8%]

of x.

A (x—22)(x +22)(x —44)(x +11) <0 » 3K x FYEREIRAVEE -

19) Given the lengths of three sides of a triangle are (a + b), (b + ¢) and (a + ¢), such [6.9%]

that a + b+ ¢ = 21 and abc = 336. Find the area of the triangle.
—APRERTE@+b) ~ (brofillatc) Ha+btc=21 K
abc =336 o XK =FHIPHYETE
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